2023/09/26 08:10 1/28

oo 3

03

oogoot

goooon

00p2774
00

0000 $ntimesm$0 00 0000000C0OO0ODOOOOO

gooboooboboooboooobooobbuooobboobbboUbbooobboOon
HEN

goboooobooobboonooooaon
oobooobobdooobbooobbooobobooobbooobboooo
obooobbooobboonobog

e OO0 UOUOUUOOOOOO
e OO OODODODODODODO
e JODDOOOODOOODRD

oo oUUU U
gobooobobodobobooobbooobboobobooobboooo
gobogobboobbooobbooobbuoooobooooboboo
gddddooooooooooooooadg

goboooobooogd
ooy UUUUU g

gobogobbooobboooobooobbooonbo

oo oo U

O $\inf$[J

gbobogobooobobooobboon

const int MAXS=105,MAXN=MAXS*MAXS,MAXM=6*MAXN, Inf=0x7fffffff;
const int dir 2]1={{0,1},{0,-1},{1,0},{-1,0}};
struct Edge
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int to,cap,next;

Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

edge MAXM<<1];
int head/MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//00 0100 [
void Insert(int u,int v,int c
edge|edge cnt|=Edge(v,c,head(u]l);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,head|v]);
head|v|=edge cnt++;

struct Dinic
int s,t;
int pos|/MAXN|,vis[MAXN],dis [MAXN];
bool bfs(int k
queue<int>q;
g.push(s);
vis/s|=k,dis|s|=0,pos|s|=head|s];
Iq.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge!i].next
int v=edgel[i].to;
vis|v|!=k&&edgel[i]|.cap
vis|[v]|=k,dis|v]=dis/ul+1,pos/vi=headv];
g.push(v);
v==t
true;

false;

int dfs(int u,int max_flow
u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
int &i=pos|ul;~i;i=edge[i].next
int v=edgeli].to;
dis|ul+l==dis|[v]|&&(temp flow=dfs(v,min(max flow,edgel(i].cap
edge|il.cap-=temp flow;
edge[i™1].cap+=temp flow;
flow+=temp flow;
max_ flow-=temp flow;
I'max_flow

’
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flow;

int Maxflow(int s,int t
this->s=s;this->t=t;
int ans=0,k=0;

mem(vis,0);
bfs (++k
ans+=dfs(s,Inf);
ans;

solver;

int n,m,alMAXS] [MAXS];

int Id(int r,int c
r-1)*m+c;

bool in(int r,int c r>0&&r<=n&&c>0&&Cc<=m;
int main

n=read int(),m=read int();
int sum=0,s=Id(n,m)+1,t=s+1;

Clear();
_rep(i,1,n
_rep j' M
alill[jl=read int(),sum+=alil[j];

i+j)&
Insert(Id(i,j),t,alil[]j!);
Insert(s,Id(i,j),alilljl);
_for(k,0,
int ti=i+dir(k ,tj=j+dir[k ;
in(ti,tj
Insert(Id(i,j),Id(ti,tj),Inf);

sum-=solver.Maxflow(s,t);
enter(sum) ;

’

goo
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const int MAXN= , MAXM= , Inf=0x7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

edge  MAXM<<1];
int head MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//00 000 O [
void Insert(int u,int v,int c
edge/edge cnt =Edge(v,c,head/u]);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,head|v]);
head|v | =edge cnt++;

struct Dinic
int s,t;
int pos|MAXN|,vis[MAXN|,dis MAXN;
bool bfs(int k
queue<int>q;
g.push(s);
vis|[s|=k,dis|[s|=0,pos/s|=head|s];
Iq.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge[i].next
int v=edge(i].to;
vis|v|!=k&&edgel[i|.cap
vis|v|=k,dis|v/=dis|ul+1,pos|/vi/=head|Vv];
g.push(v);
v==t
true;

false;
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int dfs(int u,int max_ flow
u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
int &i=pos|ul;~i;i=edgeli].next
int v=edgel[i].to;
dis|ul+l==dis|[v|&&(temp flow=dfs(v,min(max flow,edgel(i].cap
edge(i|.cap-=temp flow;
edge[i™1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
I'max_flow

flow;
int Maxflow(int s,int t

this->s=s;this->t=t;
int ans=0,k=0;

mem(vis,0);
bfs (++k
ans+=dfs(s,Inf);
ans;

solver;
char buf[MAXN];
bool vis[MAXN
void dfs(int u

vis|ul=true;
int i=head/u|;~i;i=edge[1i].next
int v=edgeli].to;
vis|[v]||edgeli].cap==

’

’

dfs(v);

int main

Clear();
int n=read int(),m=read int(),s=n+m+1,t=s+
int c,pos,p,sum=0;
_rep(i,1,n
sum+=c=read int
Insert(s,i,c);
gets(buf);
pos=0U;
sscanf (buf+pos, "%d",&p)==
Insert(i,p+n,Inf);

’
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p
p/=10;
poOS++;
buf[pos|==" "
poS++;
_rep(i,1,m

Insert(i+n,t,read int ;

int flow=solver.Maxflow(s,t);
dfs(s);

_rep(i,1,n vis[i
space(i);

puts("");

_rep(i,1,m vis|[i+n
space(i);

puts("");

enter(sum-flow) ;

.
’
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const int MAXN=305,MAXM=18005,Inf=0x7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=0
this->to=to;
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this->cap=cap;
this->next=next;

edge  MAXM<<1];
int head MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//0 0000
void Insert(int u,int v,int c
edge/edge cnt =Edge(v,c,head/u]);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,head|v]);
head|v|=edge cnt++;

struct Dinic
int s,t;
int pos|MAXN|,vis[MAXN|,dis MAXN;
bool bfs(int k
queue<int>q;
g.push(s);
vis|[s|=k,dis|[s|=0,pos/s|=head|s];
Iq.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge[i].next
int v=edge(i].to;
vis|v|!=k&&edge|[i|.cap
vis|v|=k,dis|v/=dis/ul+1,pos|/v/=head|v];
g.push(v);
v==t

false;

int dfs(int u,int max_ flow
u==t| | 'max_flow
max_ flow;
int flow=0,temp flow;
int &i=posiul;~i;i=edgeli].next
int v=edge([i].to;
dis|u|+l==dis|[v|&&(temp flow=dfs(v,min(max flow,edgel(i].cap
edgeli].cap-=temp flow;
edge|[i~1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
'max_flow

.
’

flow;
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int Maxflow(int s,int t
this->s=s;this->t=t;
int ans=0,k=0;
mem(vis,0);

bfs (++k
ans+=dfs(s,Inf);
ans;

solver;
int Next[MAXN|,Pre[MAXN];
int main

int n=read int(),m=read int(),u,v;
int s=2*n+1,t=2*n+2;
Clear();
_rep(i,1,n
Insert(s,i,1);
Insert(i+n,t,1);

m--
u=read int(),v=read int();
Insert(u,v+n,1);

int flow=solver.Maxflow(s,t);
_rep(u,1,n
int i=head|u];~i;i=edge[i].next
int v=edgel[i].to;
v!=s&&edge i .cap==
Nextiul=v-n;
Prelv-n|=u;

_rep(i,1,n
IPreli
int pos=i;
pos
space(pos);
pos=Next|pos|;

puts nu ;

enter(n-flow);

’

goo
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const int MAXN=1e5+5,MAXM=2e5+5,Inf=0x7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

edge MAXM<<1];
int head/MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//00 000 [
void Insert(int u,int v,int c
edge|edge cnt|=Edge(v,c,head(u]l);
head | u/=edge cnt++;
edge/edge cnt =Edge(u,0,head/v]);
head|v|=edge cnt++;

struct Dinic
int s,t;
int pos|/MAXN|,vis [ MAXN|,dis [MAXN];
bool bfs(int k
queue<int>q;
g.push(s);
vis/s|=k,dis|s|=0,pos|s|=head|s];
Iq.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge/i].next
int v=edgel(i].to;
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vis|v|!=k&&edge[i]|.cap
vis/vi/=k,dis/v/=dis/ul/+1,pos/vi/=head(v];
g.push(v);
v==t
true;

false;

int dfs(int u,int max flow
u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
int &i=pos|ul;~i;i=edge[i].next
int v=edgel[i].to;
dis|ul+l==dis|[v]|&&(temp flow=dfs(v,min(max flow,edgel!i].cap
edge|il.cap-=temp flow;
edge[i™1].cap+=temp flow;
flow+=temp flow;
max_ flow-=temp flow;
Imax flow

flow;
int Maxflow(int s,int t

this->s=s;this->t=t;
int ans=0,k=0;

mem(vis,0);
bfs (++k
ans+=dfs(s,Inf);
ans;

solver;
const int MAXS=60;
int Next [ MAXN],Pre[MAXN]|,6 s=MAXN-2,t=MAXN-1;

int main
Clear();
int n=read int(),pos=0,num=0;
pos<=n
++num;
Insert(s,num<<1,1);Insert(num<<1|1,t,1);

int i=sqrt(num)+1;i*i<2*num;i++
Insert((i*i-num)<<1l,num<<1|1,1);
solver.Maxflow(s,t)==
pOS++;

enter(--num);
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_rep(u,l,num
int i=head|u<<l];~i;i=edge[i].next
int v=edgel[i].to;

v!=s&&edge (i .cap==
Next ul=v>>1;
Prelv>>1]=u;

_rep(i,1,num
Preli
int pos=i;
pos
space(pos);
pos=Next|pos|;

puts nun ;

goooon
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const int MAXN= , MAXM= y INT=0x7fffffff;
struct Edge
int to,cap,w,next;
Edge(int to=0,int cap=0,int w=0,int next=
this->to=to;
this->cap=cap;
this->w=w;
this->next=next;

edge MAXM<<1];
int head MAXN|,6edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//C1 100 [J ][]
void Insert(int u,int v,int w,int c
edge|edge cnt|=Edge(v,c,w,head/ul);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,-w,head|v]);
head|v|=edge cnt++;

struct Dinic
int s,t;
int pos/MAXN|,dis [ MAXN];
bool inque|[MAXN!;
bool spfa
mem(dis, /3);
queue<int>q;
g.push(s);
inque|s /=true,dis|s|=0,pos|[s/=head|s];
Iq.empty
int u=q.front();q.pop();
inque|u=false;
int i=head(u];~i;i=edge[i].next
int v=edge(i].to;
dis/u/+edge/i| .w<dis| v |&&edgel|i].cap
dis|v/=dis|u|+edge|i]|.w,pos|/vi/=head|v];
linquelv
g.push(v);
inque|v|=true;

dis|[t]!=dis ;

int dfs(int u,int max_flow
u==t| | 'max_ flow
max_flow;
int flow=0,temp flow;
inquelul=true;
int &i=pos|ul;~i;i=edge[i].next
int v=edgel[i].to;

CVBB ACM Team - https://wiki.cvbbacm.com/



Last
update: 2020-2021:teams:legal_string:jxm2001:

2020/07/27 003 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E5%9B%BE%E8%AE%BA_3
22:59

linque /v &&dis/ul+edge(i|.w==dis|v|&&(temp flow=dfs(v,min(max_ flow,edge
il.cap

edge|i].cap-=temp flow;

edge[i”1].cap+=temp flow;

flow+=temp flow;

max_flow-=temp flow;
Imax_flow

’

inquelu|=false;
flow;

void MCMF(int s,int t,int &flow,LL &cost
this->s=s;this->t=t;
cost=flow=0;
int temp flow;
mem(inque,0);
spfa

temp flow=dfs(s,Inf);

flow+=temp flow;

cost+=1LL*temp flow*dis|t];

solver;
map<string,int>mp;
map<int,string>pt;
string a,b;
int n,m,s,t;
bool vis|[MAXN];
void dfsl(int u
u==t
cout<<pt|/ul/<<endl;
int i=head/u+n];~i;i=edge/1i|.next
int v=edgel[i].to;
u<v&&edge|i].cap<
vis|v|=true;
dfsl(v);

void dfs2(int u
int i=head/u+n];~i;i=edge|[i].next
int v=edge([i].to;
Ivis|v|&&u<v&&edge i .cap<
dfs2(v);

’
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cout<<pt|ul<<endl;
int main

n=read int(),m=read int(),s=2*n+1,t=2%n+2;
Clear();
_rep(i,1,n

cin>>a;

mplal=i;ptiil=a;

Insert(i,i+n,-1,1);

Insert(s,1,0,2);Insert(1l,1+n,0,1);
Insert(n,2*n,0,1);Insert(2*n,t,0,2);
int u,v;
m--
cin>>a>>b;
u=mplal,v=mp/b/;
u>v
swap(u,v);
Insert(u+n,v,0,2);

int flow;LL cost;

solver.MCMF (s, t,flow,cost);
flow<

puts("No Solution!");

enter(-cost);
dfsl :
dfs2 :

g2

0000 $\text{dp}$ 000 T O0ODO0O $0(nm)$0

const int MAXN= , MAXM= C

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN]|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u/=edge cnt;

int dp/MAXN| MAXN];
pair<int,int> pre[MAXN|[MAXN];
map<string,int>mp;
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map<int,string>pt;

string a,b;

int n,m;

void dfsl(int posl,int pos2
posl==
cout<<pt|posli<<endl;

?

pre/ posl| | pos2|.first==posl
pos2=pre|[posl]| | pos2]|.second;
dfsl(prelposl! [pos2|.first,pos2);
cout<<pt|[posl|/<<endl;

void dfs2(int posl,int pos2
pos2==
cout<<pt|[pos2|<<endl;

’

pos2!=n
cout<<pt|pos2|<<endl;
pre[posl] | pos2|.second==pos2
posl=pre|[posl| | pos2|.first;
dfs2(posl,prelposl]| pos2]|.second);

int main

n=read _int(),m=read int();
_rep(i,1,n
cin>>a;
mplal=i;ptiil=a;

int u,v;

m__
cin>>a>>b;
u=mp'al,v=mp/b]l;

u>v
swap(u,v);
Insert(u,v);
mem(dp,-1);
dp =0;
_rep(i,1,n
_rep ji N

dplil[jl==-

int k=head|il;k;k=edgelk].next
int v=edgelk].to;
v<=j&&v!=n

’

dpliv![jl<dplil[jl+
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dpivlijl=dplil[jI+1;
prelv!|[jl=make pair(i,j);

int k=head|j!;k;k=edge k].next
int v=edge k! .to;
v<=1&&v!=n
dplillv]<dpli![j]+
dplil[v|=dpli][j]+1;
prel[il v|/=make pair(i,j);

dpin!nl==dp
puts("No Solution!");

enter(dpini[n]);
dfsl(n,n);
dfs2(n,n);

OO0 sk$0OO0OOOO

00 p3358

ugd
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const int MAXN= , MAXM= , Inf=0x7fffffff;
struct Edge
int to,cap,w,next;
Edge(int to=0,int cap=0,int w=0,int next=
this->to=to;
this->cap=cap;
this->w=w;
this->next=next;

edge [ MAXM<<1];
int headMAXN]|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//0 0000
void Insert(int u,int v,int w,int c
edge|edge cnt|=Edge(v,c,w,head/ul);
head|u|=edge cnt++;
edge/ edge cnt =Edge(u,0,-w,head(v]);
head|v|=edge cnt++;

struct Dinic
int s,t;
int pos/MAXN|,dis [ MAXN];
bool inque MAXN;
bool spfa
mem(dis, /3);
gqueue<int>q;
g.push(s);
inque/s|/=true,dis/s/=0,pos/s|/=head|s|;
Iq.empty
int u=q.front();q.pop();
inquelu=false;
int i=head|u];~i;i=edgel|i].next
int v=edgeli].to;
dis/u/+edge/i| .w<dis| v |&&edgel|i].cap
dis|v|=dis|ul+edgeli|.w,pos|v/=head|Vv];
linquelv
g.push(v);
inquelv =true;

dis[t]!=dis C

int dfs(int u,int max flow
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u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
inquelul=true;
int &i=pos|ul;~i;i=edgeli].next
int v=edgel[i].to;
linque /v |&&dis/ul+edge(i|.w==dis|v|&&(temp flow=dfs(v,min(max_ flow,edge
il.cap
edgeli].cap-=temp flow;
edge[i”1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
'max_flow

.
’

inquelul=false;
flow;

void MCMF(int s,int t,int &flow,LL &cost
this->s=s;this->t=t;
cost=flow=0;
int temp flow;
mem(inque,0);
spfa

temp flow=dfs(s,Inf);

flow+=temp flow;

cost+=1LL*temp flow*dis|t];

solver;
int x/MAXN],lef MAXN]|,rig/MAXN|,len[MAXN];
int main
Clear();
int n=read _int(),k=read int(),m;
_for(i,0,n
leflil=read int(),riglil=read int(),len{il=rig/il-lef[i];
x[m++|=lef[il,x m++|=rigli];
sort(x,x+m);

m=unique (X, X+m) -X;

int s=m+1,t=m+2;

_for(i,1,m

Insert(i,i+1,0,k);

Insert(s,1,0,k);Insert(m,t,0,k);

_for(i,0,n
lef|i/=lower bound(x,x+m,lef[i])-x+1;
rig/il/=lower bound(x,x+m,rig[i])-x+1;
Insert(lef|i],rig/i!,-len{i],1);
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int flow;LL cost;
solver.MCMF (s, t, flow,cost);
enter(-cost);

’

guooooobooboon

00 p2766

g

OooooOoO0o0O0 $x_1,x_2,\cdots x_n$[]

1. 0000000000000 0 $s$

2. 000000000000 000DCOO000DOOO0O00ODOO0O0DOOD $ss00000O0O00O

3.000000000000000 $x1xn$0O00ODO0O0ODOOO0ODOOOO0ODOOOOO
$s$ 000000

HEN

00000 $text{dp}$ 0000 $i$000000000O0ODO

000000000000 0DO000O0DO00DO00bO0bOo0oDO0O0ODOODbDO0ODOObDDbOOD s180
good

00000 $j\tia jlea i\text{dp} j+1==\text{dp} i$00 000 $j\tois 0000 $1$0 00

O0D000000 $\text{dp} i==1$ 00000000 $1$0000 $\text{dp} i==s$ 000000
oo0oO0O0$1s000

odooooooooooon

000000000 $1,n$000000000C000000 $\inf$Q0000DODOO$$S0O00000DO
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00 $\text{dp} n==s$00 00000 $n$00000000O00O0COOOSNnf$QOO00000OODOCDOO
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0000 $s=1$0000000000000000000D00O000ODO0O0O0O0 $\inf$000O0

const int MAXN= ,MAXM=5e5+5, Inf=0x7fffffff;
struct Edge

int to,cap,next;

Edge(int to=0,int cap=0,int next=
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this->to=to;
this->cap=cap;
this->next=next;

edge [ MAXM<<1];
int head MAXN]|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//0 00000
void Insert(int u,int v,int c¢
edge|edge cnt|=Edge(v,c,head(u]l);
head|u|=edge cnt++;
edge/ edge cnt =Edge(u,0,head/v]);
head|v|=edge cnt++;

struct Dinic
int s,t;
int pos|/MAXN|,vis MAXN|,dis [MAXN];
bool bfs(int k
queue<int>q;
g.push(s);
vis|s|=k,dis|[s|=0,pos/s|=head[s];
Iqg.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edgel|i].next
int v=edgel[i].to;
vis|v|!=k&&edge(i!.cap
vis|v|=k,dis|v/=dis|ul+1,pos|/vi/=head|Vv];
g.push(v);
v==t
true;

false;

int dfs(int u,int max_ flow
u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
int &i=posiul;~i;i=edgeli].next
int v=edgel[i].to;
dis|ul+l==dis|[v|&&(temp flow=dfs(v,min(max flow,edgel(i].cap
edgeli].cap-=temp flow;
edge[i™1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
'max_flow

.
’

flow;
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int Maxflow(int s,int t
this->s=s;this->t=t;
int ans=0,k=0;
mem(vis,0);

bfs (++k
ans+=dfs(s,Inf);
ans;

solver;
int a[MAXN],dp[MAXN|,f[MAXN], pos;
int main

int n=read int();

_rep(i,1,n

alil=read int();

flpos=0]=-Inf;

_rep(i,1,n
alil>=f[pos
fl++posi=alil;
dp!i/=pos;

int t=upper bound(f,f+pos+1l,alil)-f;
fitl=alil;
dplil=t;

enter(pos);
pos==
sort(a+l,a+n+1l);
int ans=unique(a+l,a+n+1)-a-1;
enter(ans);
enter(ans);

.
’

int s=2*n+1,t=2*n+2;
Clear();
_rep(i,1,n
Insert(i,i+n,1);
dplil==
Insert(s,i,1);
dp!i|==pos
Insert(i+n,t,1);
_for(j,1,1
aljl<=alil&&dp|jl+l==dpli
Insert(j+n,i,1);

int ans=solver.Maxflow(s,t);
enter(ans);
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Insert(s,1,Inf);Insert(1,1+n,Inf);
dp[n|==pos
Insert(n,2*n,Inf);
Insert(2*n,t,Inf);

ans+=solver.Maxflow(s,t);
enter(ans);

.
1

goooon
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HEN

OO0 $n$000$m$ 00 000DOOCOO0O0OOODO0OOODOOOODOOD
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$k¢ OO0 OOO

ddddudodddooooooouuououuuouda

const int MAXN=1e5+5,MAXM=2e5+5,Inf=0x7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//00 000 O [
void Insert(int u,int v,int c
edge/ edge cnt =Edge(v,c,head/u]);
head|u/=edge cnt++;
edge|edge cnt|=Edge(u,0,head(v]);
head|v | =edge cnt++;
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struct Dinic
int s,t;
int pos|MAXN|,vis[MAXN|,dis MAXN;
bool bfs(int k
queue<int>q;
g.push(s);
vis|[s|=k,dis|[s|=0,pos/s|=head|s];
Iq.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge[i].next
int v=edge(1i].to;
vis|v|!=k&&edgel[i|.cap
vis|v|=k,dis|v/=dis/ul+1,pos|/v/=head|v];
g.push(v);

false;

int dfs(int u,int max_ flow
==t| | 'max_flow
max_ flow;
int flow=0,temp flow;
int &i=posiul;~i;i=edgeli].next
int v=edge([i].to;
dis|ul+l==dis|v|&&(temp flow=dfs(v,min(max flow,edge(i].cap
edgeli].cap-=temp flow;
edge|[i~1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
'max_flow

’

flow;

int Maxflow(int s,int t
this->s=s;this->t=t;
int ans=0,k=0;
mem(vis,0);

bfs (++k
ans+=dfs(s,Inf);
ans;

solver;
const int MAXS=25;
vector<int> g[MAXS|;
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int p[MAXS|,f[MAXS|,TI[MAXS!;
int Find(int x x==p[x|?x:p[x]=Find(p[x
int main

Clear!();
int n=read int()+2,m=read int(),k=read int
_rep(i,1,n
pli]l=i;
_for(i,0,m
flil=read int(),T!i/=read int();
_for(j,0,T[1i
x=read _int();
X==
x=n-1;
X== -
X=n;
glil.push back(x);

_for(j,1,Ti1
x=Find(gli][]- yy=Find(glil[j]);
x!l=y
pLXI=Y;

Find(n-1)!'=Find(n
pu.ts ||0|| ;

’

Insert(s,n-1,Inf);Insert(n,t,Inf);

int ans=0;
int flow=0;flow<k;ans++
for(i,1,n

Insert(i+ans*n,i+(ans+1)*n,Inf);
Insert((ans+2)*n, (ans+1)*n,Inf);
_for(i,0,m

Insert(glillans%T (1| /+ans*n,gl[i]|| (ans+
flow+=solver.Maxflow(s,t);

enter(ans);

’

oogdd

00 pl251

ug

.
’

, S=MAXN -2, t=MAXN-

%T[i]|+(ans+

*n,fli

1 X, Y5

.
’
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const int MAXN= , MAXM= , INf=0x7fffffff;
struct Edge
int to,cap,w,next;
Edge(int to=0,int cap=0,int w=0,int next=
this->to=to;
this->cap=cap;
this->w=w;
this->next=next;

edge MAXM<<1];
int head[MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//0 00000
void Insert(int u,int v,int w,int c
edge|edge cnt|=Edge(v,c,w,head/ul);
head|u|=edge cnt++;
edge/ edge cnt =Edge(u,0,-w,head(v]);
head|v|=edge cnt++;

struct Dinic
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int s,t;
int pos|[MAXN|,dis MAXN];
bool inque!MAXN];
bool spfa
mem(dis, /3);
queue<int>q;
g.push(s);
inque/s|/=true,dis/s/=0,pos/s|=head|s|;
Iq.empty
int u=q.front();q.pop();
inquelu =false;
int i=head|u];~i;i=edge|i].next
int v=edgel[i].to;
dis/u/+edge/i! .w<dis|v|&&edgel|i].cap
dis|v/=dis|ul+edgeli]|.w,pos|/vi/=head|v];
linque|v
g.push(v);
inquel|v|=true;

dis|[t]!=dis C

int dfs(int u,int max_ flow
u==t| | 'max_flow
max_ flow;
int flow=0,temp flow;
inque/ul=true;
int &i=posiul;~i;i=edgeli].next
int v=edge([i].to;
linque /v &&dis/ul/+edge /i .w==dis|v |&&(temp flow=dfs(v,min(max_ flow,edge
il.cap
edge|il.cap-=temp flow;
edge[i™1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
Imax flow

’

inquelu|=false;
flow;

void MCMF(int s,int t,int &flow,LL &cost
this->s=s;this->t=t;
cost=flow=0;
int temp flow;
mem(inque,0);
spfa
temp flow=dfs(s,Inf);
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flow+=temp flow;
cost+=1LL*temp flow*dis|t];

solver;
int a/MAXN];
int main

Clear();
int n=read_int(),s=n<<l|1,t=s+1;
_rep(i,1,n
alil=read int();
int
cl=read int(),t2=read int(),c2=read int(),t3=read int(),c3=read int
_rep(i,1,n
Insert(s,i+n,0,alil);
Insert(i,t,0,alil);
Insert(s,i,cl,Inf);
i+t2<=n
Insert(i+n,i+t2,c2,Inf);
i+t3<=n
Insert(i+n,i+t3,c3,Inf);

’

_for(i,1,n
Insert(i+n,i+n+1,0,Inf);
int flow;LL cost;
solver.MCMF (s, t,flow,cost);
enter(cost);

1
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